	1. 
Problem 6-2      The value of EUAC is most nearly:

(Points : 1) 
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	2. 
Problem 6-9.   The value of D is most nearly:

(Points : 1) 
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3. Problem 6-21.  The value of C is most nearly:  (Points : 1) 
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4. Problem 6-22.  The value of EUAB is most nearly: (Points : 1) 
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5. 
Problem 6-12    The value of NEUAB = EUAB - EUAC is most nearly:

(Points : 1) 
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6. Problem 5-32: The uniform annual cost of alternative A is most nearly: (Points : 1) 
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7. Problem 5-32: The uniform annual cost of alternative B is most nearly: (Points : 1) 
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8. Problem 5-32: Which course of action should be selected? (Points : 1) 
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Alternative A 
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Alternative B

9. 
Problem 6-30: The amount of the uniform amount that can be removed each year is most nearly

(Points : 1) 

      [image: image38.wmf] $ 1280 
      [image: image39.wmf] $ 1640
      [image: image40.wmf] $ 1750
      [image: image41.wmf] $ 1870


[image: image42.emf]
10. 
An oil refinery must now being sending its waste liquids through a costly treatment process before discharging them into a nearby stream.  The engineering department estimates costs at $30,000 for the first year.  It is estimated that if process and plant alterations are made, the waste treatment cost will decline $3,000 each year.  As an alternate, a specialized firm, Hdro-Clean, has offered a contract to process the waste liquids for 10 years for a fixed price of $15,000 per year, payable at the end of each year.  Either way, there should be no need for waste treatment after 10 years.  The refinery manager considers 8% to be a suitable interest rate.   

    The EUAC of the refinery treating its own waste is most nearly
(Points : 1) 
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11. 
A suburban taxi company is considering buying taxis with diesel engines instead of gasoline engines.  The cars average 50,000 km/yr.  



Diesel 

Gasoline
Vehicle cost 
$13,000 

$12,000
Useful life (yrs) 
3 


4
Fuel cost per liter 48¢ 


51¢
Mileage  (km/liter) 35 


28
Annual repairs 
$300 


$200
Annual insurance
 premium  

500 


500
End-of-useful-life 
resale value 
2,000 

3,000

Interest is 6%



The equivalent uniform annual cost  EUAC of the taxi with the diesel engine is most nearly
 

(Points : 1) 
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12. For problem 11, the Equivalent Uniform Annual Cost  (EUAC) of the car with the gasoline engine is most  nearly 

(Points : 1) 
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$

4390

13. For problem 11, which is the more economical taxi? 

(Points : 1) 
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14. Problem 5-45: The Net Equivalent Annual Cost of the Westinghome is most nearly: (Points : 1) 
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15. Problem 5-45: The Net Equivalent Annual Cost of the Itis is most nearly: (Points : 1) 
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16. Problem 5-45: The recommendation should be to accept the bid from: (Points : 1) 
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17. Problem 6-57: The EUAC of the 48 month tire is most nearly (Points : 1) 
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18. 
Problem 6-57: The recommended tire for the student is

(Points : 1) 
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19. Problem 6-50: The EUAC for Machine A is most nearly: (Points : 1) 
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20. Problem 6-50: The EUAC of Machine B is most nearly: (Points : 1) 
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21. Problem 6-50: Which machine should be purchased? (Points : 1) 
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Machine B

22. Problem 6-41: The annual cost of the Gravity Plan is most nearly: (Points : 1) 
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23. Problem 6-41: The EUAC of the Pumping Plan is most nearly: (Points : 1) 
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24. Problem 6-41: Which Plan should be selected? (Points : 1) 
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